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INTERNAL EXAM-(2)

B. Com. (Part II) EXAMINATION, 20 2.5
(Group—III : Applied Economics)
Paper First
BUSINESS STATISTICS

Maximum Marks : 75
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Attempt all the five questions. One question from each

Unit is compulsory. All questions carry equal marks.
THE—1
(UNIT—1)
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Distinguish between primary and secondary data. Explain
the various sources of collecting secondary data. What

precautions should be taken before using secondary data ?
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1 20
2 17
3 28
4 12
5 30
6 40
7 25
8 14
9 35
10 19

Calculate arithmetic mean from the following marks

obtained by 10 students in a monthly test in Statistics :

Roll No.

Marks obtained
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20
17
28
12
30
40
23
14
35
19
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A motor-car driver covers a distance of 20 mile at an

average speed of 40 m. p. h. Then he covers 10 mile
at a speed of 25 m. p. h. Due to bad road he now
covers a distance of 5 mile in 20 minute. The
remaining distance of 40 mile is covered by him In

one hour. Find out his average speed for the entire
journey.
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21,12, 15, 17,18, 20, 19, 18,0, 6
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A manager while inspecting his departments found
the member of absentees in 10 departments as

follows :
21,12,15,17, 18,20, 19, 18,0, 6
Calculate third quartile.
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Find standard deviation from the following data :
Class Frequency
0—4 5
4—8 8
8—12 _
12—16 4
16—20 6
Total 30
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14, 8,20, 18, 30,24, 14, 18, 14

For the following data, calculate mean deviation
from mode -

14,8, 20, 18, 30,24, 14, 18, 14
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85 15 ]
90 18
95 25
100 19
105 15
110 7
115 28
120 12
125 11

Calculate Bowley’s coefficient of skewness from the

following data :

Weight (kg) No. of Persons
85 15
90 18
95 25
100 19
105 15
110 7
115 28
120 12
125 11
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(8= #) [80-90| 90-100 | 100-110 [ 110-120 | 120-130
55—60| 1 3 7 5 2 18
60—65| 2 4 10 7 4 27
65—70| 1 5 12 10 7 35
70—75| - 3 8 6 3 20

T 4 15 37 28 16 | 100

Calculate coefficient of correlation between heights and

weights from the data given below :

I : : ] |
5 1 1 8 ' |
| He{ghts Weights (in 1b.) Total|
(in inch) | 80-90 | 90100 [ 100-110|110-120 | 120-130 j
| 55—60 | 1 3 7 5 2 18 |
60—65 | 2 4 10 7 4 27
65—70 1 ) 12 10 7 35 |
70—75 — 3 8 6 3 20
Total 4 15 37 28 16 100
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Find the mean of the variables x and y and correlation

coefficient from the following information :
Regression equation y on x :

Regression equation x on y :

15

2y —x-50=0
3y -2x-10=0

2y-x-50=0
3y—2x—10:0

(A-56)
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What is meant by Business Forecasting ? Discuss the
important theories of business forecasting.
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A bag contains S white, 4 black, 3 yellow and 4 red
balls. What is the probability of getting a black or
red ball at random in a single draw of one ?
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What is the probability of drawing a king, a queen
and a knave in this very order from a pack of cards

in three consecutive draws presuming that the cards
are not replaced ?
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